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Shawl « Soleil d’Hiver » 

Take the wool which you please and knit the 

according to the manufacturer's instructions, 

you'll get a piece very personal and adapted 

to your taste: enjoy! 

Same: I give indicative number of repetitions 

of each pattern, you can safely edit them but 

ensuring however to respect the proportions: 

ex 4 times increases, 7 times the right part, 4 

times decreases(shortest shawl); or even: 6 

times increases, 11 times the right part, 6 

times decreases(long shawl). 

Abbreviations and points: 

M: Marker 

sl: Slip 1 stitch knitwise 

st: stitch 

p :Purl 

k : knit 

m1: make one 

[…]: lace part 

(…) x….: knit the stitches between (…) as many times as indicate after x… . 

SKP: Slip, Knit, Pass Over 

Yo: Yarn Over  

K2tog: knit 2 together 

Stocking stitch, garter stitch. 
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Increase section: 

Cast on 13 stitches .Knit 4 rows of garter stitch. : For the first one: k5, M, k1, M ,k7. 
And after the first four rows: 
 
Row 1: (right side): (k1, p1) x2, k1, M, Knit all the stitches and before the marker, 
m1, M, [k3, 1 Yo, 1SKP, 1Yo, k2]. 

Row 2:( wrong side) [sl1, p5, k2], M, purl all the stitches between the markers, M, ( 
k1, p1) x2, k1. 

Row 3: (k1, p1) x2, k1, M, knit all the stitches between the markers, M, [k4, 1YO, 
1SKP, 1Yo, k2] 

Row 4: [sl1, p6, k2], M, purl all the stitches between the markers, M, (k1, p1) x2, k1. 

Row 5: (k1, p1) x2, k1, M, Knit all the stitches and before the marker, m1, M, [k5, 
1Yo, 1SKP, 1Yo, k2] 

Row 6: [sl1, p7, k2], M, purl all the stitches between the markers, M, (k1, p1) x2, k1. 

Row 7: (k1, p1) x2, k1, M, Knit all the stitches and before the marker, m1, M, [k6, 
1Yo, 1SKP, 1Yo, k2] 

Row 8: [sl1, p8, k2], M, purl all the stitches between the markers, M, (k1, p1) x2, k1. 

Row 9: (k1, p1) x2, k1, M, Knit all the stitches and before the marker, m1, M, [k7, 
1Yo, 1SKP, 1Yo, k2] 

Row 10: [sl1, p9, k2], M, purl all the stitches between the markers, M, (k1, p1) x2, k1. 

Row 11: (k1, p1) x2, k1, M, kX, M, [k8,1Yo,1SKP,1Yo,k2] 

Row 12: [sl1, p10, k2], M, purl all the stitches between the markers, M, (k1, p1) x2, 
k1. 

Row 13: (k1, p1) x2, k1, », M, Knit all the stitches and before the marker, m1, M, [k9, 
1Yo, 1SKP, 1Yo, k2] 

Row 14: [sl1, p11, k2] , M, purl all the stitches between the markers, M, ( k1, p1) x2, 
k1. 

Row 15: (k1, p1) x2, k1, M, Knit all the stitches and before the marker, m1, M, [10K, 
1YO, 1SKP, 1YO, 2K] 

Row 16: [bind off 8st in purling them, p4, k2], M, purl all the stitches between the 
markers ,M, ( k1, p1) x2, k1. 

Reproduce 5 times this pattern and move to the Straight section of the shawl. 

Straight section: 

Row 1: (right side): (k1, p1) x2, k1, M, knit all the stitches between the markers , M, 
[k3, 1 Yo, 1SKP, 1Yo, k2]. 

Row 2: ( wrong side) [sl1, p5, k2], M, purl all the stitches between the markers, M, ( 
k1, p1) x2, k1. 

Row 3: (k1, p1) x2, k1, M, knit all the stitches between the markers, M, [k4, 1YO, 
1SKP, 1Yo, k2] 
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Row 4: [sl1, p6, k2], M, purl all the stitches between the markers, M, (k1, p1) x2, k1. 

Row 5: (k1, p1) x2, k1, M, knit all the stitches between the markers  , M, [k5, 1Yo, 
1SKP, 1Yo, k2] 

Row 6: [sl1, p7, k2], M, purl all the stitches between the markers, M, (k1, p1) x2, k1. 

Row 7: (k1, p1) x2, k1, M, knit all the stitches between the markers  , M, [k6, 1Yo, 
1SKP, 1Yo, k2] 

Row 8: [sl1, p8, k2], M, purl all the stitches between the markers, M, (k1, p1) x2, k1. 

Row 9: (k1, p1) x2, k1, M, knit all the stitches between the markers  , M, [k7, 1Yo, 
1SKP, 1Yo, k2] 

Row 10: [sl1, p9, k2], M, purl all the stitches between the markers, M, (k1, p1) x2, k1. 

Row 11: (k1, p1) x2, k1, M, knit all the stitches between the markers , M, [k8, 1Yo, 
1SKP, 1Yo, k2] 

Row 12: [sl1, p10, k2], M, purl all the stitches between the markers, M, (k1, p1) x2, 
k1. 

Row 13: (k1, p1) x2, k1, », M, knit all the stitches between the markers , M, [k9, 1Yo, 
1SKP, 1Yo, k2] 

Row 14: [sl1, p11, k2], M, purl all the stitches between the markers, M, (k1, p1) x2, 
k1. 

Row 15: (k1, p1) x2, k1, M, knit all the stitches between the markers , M, [10K, 1YO, 
1SKP, 1YO, 2K] 

Row 16: [bind off 8st in purling them, p4, k2], M, purl all the stitches between the 
markers, M, (k1, p1) x2, k1. 

Reproduce 9 times this pattern and move to the decrease section of the shawl. 

Decrease section : 

Row 1: (right side): (k1, p1) x2, k1, M, knit the stitches between the markers and 
when you have 2 stitches left before the marker: K2tog, M, [k3, 1 Yo, 1SKP, 1Yo, k2]. 

Row 2:( wrong side) [sl1, p5, k2], M, purl all the stitches between the markers ,M, ( 
k1, p1) x2, k1. 

Row 3: (k1, p1) x2, k1, M, knit all the stitches between the markers, M, [k4, 1YO, 
1SKP, 1Yo, k2] 

Row 4: [sl1, p6, k2], M, purl all the stitches between the markers, M, (k1, p1) x2, k1. 

Row 5: (k1, p1) x2, k1, M, knit the stitches between the markers and when you have 2 
stitches left before the marker: K2tog, M, [k5, 1Yo, 1SKP, 1Yo, k2] 

Row 6: [sl1, p7, k2], M, purl all the stitches between the markers, M, (k1, p1) x2, k1. 

Row 7: (k1, p1) x2, k1, M, knit the stitches between the markers and when you have 2 
stitches left before the marker: K2tog, M, [k6, 1Yo, 1SKP, 1Yo, k2] 

Row 8: [sl1, p8, k2], M, purl all the stitches between the markers, M, (k1, p1) x2, k1. 
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Row 9: (k1, p1) x2, k1, M, knit the stitches between the markers and when you have 2 
stitches left before the marker: K2tog, M, [k7, 1Yo, 1SKP, 1Yo, k2] 

Row 10: [sl1, p9, k2], M, purl all the stitches between the markers, M, (k1, p1) x2, k1. 

Row 11: (k1, p1) x2, k1, M, knit all the stitches between the markers, M, 
[k8,1Yo,1SKP,1Yo,k2] 

Row 12: [sl1, p10, k2], M, purl all the stitches between the markers, M, (k1, p1) x2, 
k1. 

Row 13: (k1, p1) x2, k1, », M, knit the stitches between the markers and when you 
have 2 stitches left before the marker: K2tog, M, [k9, 1Yo, 1SKP, 1Yo, k2] 

Row 14: [sl1, p11, k2] , M, purl all the stitches between the markers, M, ( k1, p1) x2, 
k1. 

Row 15: (k1, p1) x2, k1, M, knit the stitches between the markers and when you have 
2 stitches left before the marker: K2tog, M, [10K, 1YO, 1SKP, 1YO, 2K] 

Row 16: [bind off 8st in purling them, p4, k2], M, purl all the stitches between the 
markers, M, ( k1, p1) x2, k1. 

Reproduce 5 times this pattern. 

After the 16th row of the last pattern: make 4 rows of garter stitch with the 13 
remaining stitches and cast off, block the shawl, fasten off. Wear... offer...  and make 
another! 


